£ 1

AT DI SEHEET
A\ (R E A S DHEED)
Ly 297 H 10
Sk A X EE






AQtEREROHER (%)

(AN)
70,000 400
340 27
60,000 32713 ] :
11,459 13,760 29.5 30.7 L.»»'/’[/
’ ’ — T 30.0
50,000
295 17,419 18,105 18423 19,330 19444 50
40,000 N |
_l.f"'/ 20.0
30,000
20,000 3 30,725 29281 o
10,000 5.0

ERITEE FER22EE TFR2IEE FH28FEE FER9FEE FrNEE FT/HITEE
mm~145F C15~64F 65~ = SEMEER®%)

_

61,358 A 61,077 A 59,141 A 58,982 A 58,831 A 56,868 A 54,827 A\
Eﬁ%‘l b 18.7% 22.5% 29.5% 30.7% 31.3% 34.0% 35.5%



EEE A OAEML , £ EEEA O

—EADFELEFRBDNTVA
= FELMIBONIVAZH
= NETFHOHE

S EEX A AMOER
BRBORRELELN. KSVT(TPRES
LUNDAMEHLEE

:|n+

U

Bk



" NEREOHT (B1EHIERE) e

9,000 25

4,000 20
3,000 15
2,000 10
1,000 )
0 0

FERATEE FR224EE FR2TEE FR285E FR29FE FR324FE FERITEE
e ERE] COEXE2 i AMNENE BN e BENE2 e BN ES O ENE4 o ENES m BER

H 28 E LAFT I3 5=H8, H29F LI I ETE1E

|| FAUSE | FA2SE | FRFK | FA2EE | FA0FE | TALER | FATEE

PREEH 1,924 A 2,253 A 2,904 A 2,955 A 3,128 A\ 3,675 A 4320\
EE 16.8% 16.4% 16.3% 16.1% 17.0% 19.0% 22.2%

SI&I



FoHACHLVTIE., FIRDHAN6SFEE M A T=2&ICED
;?3 TEEZNTH-OTLVS

Sk, RS EHEBEOEMCHES. MEEEEOEM
N U g
= BERLELICY—ERAENEN




5000

4500

4000

3500

3000

2500

2000

1500

1000

500

777 XA b

TE
2,803 A

221

OEsE BERE BEER

120

12841

H32
BGH BEREAR #/)\HE

=g ==
a@ﬁEjf

K
=

22%

EE

3,448 A

BE/NRIE




HEEEFRETZAST— tZ@fkh{Z\g

= BL\DFRBE. I3
FRFADH—EALEE

RN

SR REG
MFRISNS

lin & DI INICHF

~ AN

'js Jl E

S 27 o

2 Aty AC

= MEREELHICT—EA=NEM

EREH—EADZICELHN

Z o



MERMNEDHER

(BHM)
6,000
4,000 - 293 ___________ 292 _" 1489 —
w0 1254 1207 1349 oo
.............................. 1263
2000 — 885 1,045 1,192 -
] 2355
1,000 1,584 1,491 1,552 o
0
FR27TERE F 284 TR 294 FR32ERE FRITEE
EEY-EA oHgEEREY-EA OmEY-EA OE0MmY-—ER
FR2VEE THSEE TH29EE TRI2EE TFHRITEE
wftEEAE) |4,015 4,035 4,356 4,871 5,773
£ 1,584 1,491 1,552 1,849 2,355
I H A 885 1,045 1,192 1,263 1,367
wi | [ zse) [ o1207] [ 139 [ 1489 [ u7es
Z Dth 293 292 263 271 288
REREL R & 5,050




e ERR29F FE LI, FTIEIN—A
SETERTEZVDRIAHELLERT HE. EELRE
XA AYS

JTEERRITE DB, MERRBDIBEL D
=B 1SRRERBDBRUCHKR AT EDBRUOREFZRE




